®1—1 B&EEORIRR

= ZDith
91E¢ o0, 3t 1%

ey £3
AP <
OH 0/«
2
¢ 514513%:
'<'<;<;‘;‘;<;<;<>
<<<<< i

EisE
3344 9%

1—2 RBEHEZZH-ERBEFOAR

ZF0ith 8
EFHERE 2%

364 10% Fesmans

. Ean)

-

_

o

— R R 1
259F 69%

E%éﬁ%ﬁ%ézl}\ ﬂﬁ%%ﬁ%gﬁiﬁféﬁ%&lﬁﬁﬂﬁ- B SRR
O E ~ L - \

#L\S




K1—-3 HEHBOHRS

450 () 42614 —
° DEERGARE
RRe BN
350 - o
3044 309¢fF 72| [BEOH
300 - [ 2834 200
75 e 168
250 :::::::: 80 L
200 e 289
259
150 160 102 [
100 181 |
50 e SAREH -] |
64 33 537 =36
Eeed . Eogd

0 mped . Emged10 . [F16E

TRR14EE FHI10EE ERH16EE ETH17EE ER18EE




	Sheet1



